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1. Identify the figure below
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(i) rectangle (ii) parallelogram (iii) square (iv) rhombus (v) triangle

2. In rhombuslJKL, diagonals IK and JL intersect atM. Then KL ||
L K

I ]
(i) JL (i) JK (i) LI (v) 1

3. In rhombusKLMN, diagonals KM and LN intersect atO. Then NK =
N M

K L

(i) KL (ii) LM (iii) MN (iv) LN

4. In rhombusBCDE, diagonals BD and CE intersect atF. Then ABCD =
E D

X

B C

(i) AEBC (ii) ACDE (iii) ADEB (iv) AFBC



5. In rhombus DEFG, diagonals DF and EG intersect atH. Then AHDE
G F

X
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(i) AGDE (ii) AHFG (iii) AHFE (iv) AHDG

6. In rhombusLMNO, diagonals LN and MO intersect atP. Then ZOLM =
o] N

X
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(i) £LMNO (ii) £LMP (iii) £ZNOL (iv) ZLMN

7. In rhombusABCD, diagonals AC and BD intersect atE. Then ZDEC #
D C

X

A B

(i) £LCEB (ii) 4DAB (iii) 4BEA (iv) ZAED

8. In rhombusEFGH, diagonals EG and FH intersect atl. Then ZIGH =
H G
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(i) £FGI (ii) £EIH (iii) 4ZHEI (iv) ZIEF



9. In rhombusNOPQ, diagonals NP and OQ intersect atR. Then LZROP #
Q P
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(i) £PQR (ii) £ZRQN (iii)) £QRP (iv) 4ZNOR

10. In rhombusHIJK, diagonals H) and IK intersect atL. ThenHL=
K |

X
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(i) JL (i) KH (i) 1L (iv) KL

11. In rhombusIJKL, diagonals IK and JL intersect atM. Then 1] |
L K

X

(i) KL (i) LI (ii) JK (iv) JL

12. In rhombusKLMN, diagonals KM and LN intersect atO. Then NK ||
N M

X
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(i) LN (i) MN (i) LM (iv) KL



13. In rhombus MNOP, diagonals MO and NP intersect atQ. Then NO ||
P 0

M N

(i) NP (ii) PM (iii) MN (iv) OP

14. In rhombusNOPQ, diagonals NP and OQ intersect atR. ThenNO =
Q P

N o

(i) PQ (ii) OP (iii)) QN (iv) OQ

15. In rhombusEFGH, diagonals EG and FH intersect atl. ThenGH =
H G

E F

(i) EF (ii) FG (iii) HE (iv) FH

16. In rhombusNOPQ, diagonals NP and OQ intersect atR. ThenOP =
Q P
M o
(i) NO (ii) PQ (iii) OQ (iv) QN

17. In rhombusKLMN, diagonals KM and LN intersect atO. Then ANKL=
N M
K L

(i) ALMN (ii) AKLM (iii) AMNK (iv) AOKL




18. In rhombusDEFG, diagonals DF and EG intersect atH. Then AEFG=
G F
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(i) AHDE (ii) AFGD (iii) AGDE (iv) ADEF

19. In rhombusJKLM, diagonals JL and KM intersect atN. Then ALM] =
M L

1 K

(i) AJKL (i) AMJK (i) ANJK (iv) AKLM

20. In rhombusOPQR, diagonals OQ and PR intersect atS. Then ASQP &
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(i) AROP (ii) ASOR (iii) ASQR (iv) ASOP

21. In rhombusOPQR, diagonals 0Q and PR intersect atS. Then ASQR &
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; S &
o o

(i) ASOR (ii) AROP (iii) ASQP (iv) ASOP

22. In rhombuslJKL, diagonals IK and JL intersect atM. Then AMIL
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(i) AL (i) AMK) (i) AMKL (iv) AMI




23. In rhombusNOPQ, diagonals NP and OQ intersect atR. Then LZOPQ =

Le}
o

%

N O

(i) £QNO (ii) £NOR (iii) £PQN (iv) £ZNOP

24. In rhombusHIJK, diagonals H) and IK intersect atL. Then £ZHI) =
K J
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(i) LK (ii) Z£JKH (iii)) £ZKHI (iv) ZHIL

25. In rhombusLMNO, diagonals LN and MO intersect atP. Then ZNOL =
N

o
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(i) £LMNO (ii) £OLM (iii)) £ZLMP (iv) ZLMN

26. In rhombusBCDE, diagonals BD and CE intersect atF. Then ZCFB =
E D

X
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(i) LEFD (ii) £EBC (iii) 4DFC (iv) 4BFE



27. In rhombusPQRS, diagonals PR and QS intersect atT. Then £LPTS =
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(i) £SPQ (ii) 4ZRTQ (iii) £QTP (iv) 4STR

28. In rhombusLMNO, diagonals LN and MO intersect atP. Then ZNPM =
o N

X
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M

(i) £MPL (ii) £ZLPO (iii)) £OPN (iv) £OLM

29. In rhombusHIJK, diagonals HJ and IK intersect atL. Then ZLHI =

7
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(i) £1L (ii) £KHL (iii) £ZHLK (iv) ZLJK

30. In rhombusOPQR, diagonals OQ and PR intersect atS. Then ZROS =
R Q

X

o

o

(i) £SOP (ii) £OSR (iii) 4SQR (iv) 4PQS



31. In rhombusFGHI, diagonals FH and Gl intersect at). Then LGHJ #

X
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(i) £JFG (i) £LFJI (iii) ZJHI (iv) ZIF)

32. In rhombusLMNO, diagonals LN and MO intersect atP. Then ZPOL =
O N

X
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M

(i) £PMN (ii) £ZOPN (iii) 4ZNOP (iv) £ZLMP

33. In rhombusABCD, diagonals AC and BD intersect atE. Then ZABE =
D C
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(i) £LEDA (ii) £DEC (iii)) £EBC (iv) £CDE

34. In rhombuslIJKL, diagonals IK and JL intersect atM. Then ZKLM =
K

-
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(i) £LMJK (i) £JM (iii) £MLI (iv) £ZLMK

35. In rhombus]JKLM, diagonals JL and KM intersect atN. ThenMN =
M L
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i) LN (i) KN (i) M} (iv) JN



36. In rhombusHIJK, diagonals HJ and IK intersect atL. ThenlL=
K J
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(i) KL (ii) JL (iii)) KH (iv) HL

37. In rhombusKLMN, diagonals KM and LN intersect atO. ThenMO =
N M
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(i) KO (ii) NO (iii)) NK (iv) LO



Assignment Key

1) (iv) 2) (iv) 3) (iv) 4) (iii) 5) (i) 6) (i)
7) (ii) 8) (ii) 9) (iii) 10) (i) 11) (i) 12) (iii)
13) (ii) 14) (iv) 15) (iv) 16) (iii) 17) (i) 18) (iii)
19) (i) 20) (i) 21) (ii) 22) (i) 23) (i) 24) (ii)
25) (iv) 26) (ii) 27) (i) 28) (iv) 29) (iii) 30) (ii)
31) (ii) 32) (ii) 33) (ii) 34) (iv) 35) (ii) 36) (i)
37) (i)
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